Try it

1. 541 x 34 =
x | 500 40 1
30 [ 15000 | 1200 30
4 | 2000 | 160 4
= 18,394
2 438 x 91 =
X 400 30 8
90 |36,000 | 2700 720
1 400 | 30 8
= 39,858
3. 801x21-=
% 800 00 1
20 | 16,000 [ © 20
1 800 0 1

7

Use the grid method to calculate these:

= 16,821

401 x 76 =
x | 400 00 1
70 128,000 | 0 70
6 | 2400 0 6
= 30,476

5
6.
1.
3

263 x 23
184 x 32
507 x 24
628 x 53 = 33,284

6049
5,888
12,168



Use it Prove it
send '‘prove it to your teacher on daojo to

mark
1. A cafe sells 24 cups of lemonade 1. Explain the mistakes made
each containing 175ml. How much in this calculation.
[x200 (30 6
4200ml 40 8000 1200 [240 | 9480

5 1000 150 | 30 [1185
2. Bob runs 256 metres every dow. | | P

= 10665
How far does he run in 2 weeks.
3584m 2. Tommy says it doesnt
or the rows then add the
3. Poppy saves £253 every month. answers together: Is he correct

How much does she save in 1 year: and why?

£3036



